Let B"(r) denote the closed ball of radiusrz in R™ centered at the origin.

(a) Show that Vol(B™(r)) = A\,r™ for some positive constant \,,.

(b) Compute A\; and Asg.

(¢c) Compute A, in terms of \,,_o.
)

(d) Deduce a formula for A, for general n. (Hint: consider two cases, according to whether n is

even or odd.) ‘F
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L How to Evaluate a Line Integral \
R‘?/C&-’[/ * To integrate a continuous function f(x, y, z) over a curve C:

1. Find a smooth parametrization of C,

r(t) = g(Oi + h(t)j + k(1)k, a
2. Evaluate the integral as \

b
/[(\ y,2)ds = / f(g(0), h(t), k(t))|v(0)| dt.
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